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' ’ ‘ Assiut University Final Exam
l ‘LJ [ . Faculty of Science Object Oriented programing
R gended Mathematics Dept. Code : MC251 Time:2

Answer the following questions:

Question 1:

. Choose the correct answer and write it in the answer table:

Date :31/12/2017 e
Leve): Second 4
Hour A——

(50 Marks)

(15 Marks)

I. In which of the following is y not equal to 5 after execution? Assume X is equal to 4.

a)y>; b) y == +x; g) y = Xt d) y = x=:5;
2. Which of the following will not increment variable ¢ by onc?

a5 o e oy L T . Ty i
3. What is the value of x after the following statements? — int x; x = 15 %4;

a) 4 - |b)15 c)3 d) 0

4. What is the correct way to write the condition y <x <z?

a) (y <x) [ (x <7)
S. Supposck 5 and yi 6

b) (y <x) && (x <z) [c) (y <x)or(x <z)
. What is x aAftervevaluaﬁng (y >10) && (-!'ml-x > 10)? A

d) (y <x)and (x <z)

a) S b) 6 ¢) true d) false
6. Suppose x-3 and y4What is x after evaluating‘ '(:y'>‘ 10) && (x- - >10)'7
a) 2 b) 3 c) 1 d) 0
7 What is the valuc of x after the following stat.? double x; x* 05 X i 30%4.0;x- 2.0;
a) 12.0 by 100 ¢) 11.0 d) 1.0

8. What is the output of the following? float value; value =< 33.5; cout <<'"valuc" << cndl; .

a) 33.5

b) value ¢} “33.5" d) "valuc”

9. What is the valuc of x

afier the following statement? float x; x -3.0/4.0 + 3 1 2/5; B

a) 3.75

b) 0.75 ¢) No value d) 4.15

10, What is the value ol x after the following code ? int x = 10; if(x +1 > 10) {x  13:}

a) 13

1. What is the value of the following expression? (true && (4/3 || 1(6)))

b) 10 o) 11 d) 12

a) false

1|

b) true c) 1 d) 0

|
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12. Consider the following program scgment. Assuming that it is embedded in a working
program , how many times is the while loop executed?

int X -0, NUM =2, SUM=3;

while(X <+ 5)

{

lSUM - SUM + X;
XX 12
NUM -,
a) 3 times b) 4 times \c) 5 times ‘d) 6 times
13 Which of the following correctly declares an array? -
la) int arraylilO'l;‘ ‘b) int array;' | \c)ﬂ array{lO}, R \ d) af_ray array|_10;|;
14. What is the indéxiﬁmﬁbér“(l)l;tﬁé Jast clement of an arrdy with 9 clements?
\a) 9 b)8 {c) 0 V ‘d) uscr-defined
Lt SN2 i (V38223 : 5 a5 a rosult of this codo min ...
‘..3)3 v ”\b)MS ‘c) : ld) :

Answer Table

Qucstion 1 2|3 |4 516 k] l8 To 10 | 11 '12'”1'3 14 \15
Question 2: :
Write the output of the following blocks of code: | (10 Marks)
B S Gl e e Gitpt

I lintn-:3;

while (n > 0)

i
cout << n * n << endl;
- -1

)
S

cout << n << cndl;

while (n < 4)

cout << +tn << endl;

cout <<n << end]’ ‘

Jint x+ 2,y 3.

/leout<<"x bty " <<xtyy
jeout <<X ly<<": "<y X

2

2|




3. |Assumei - 1,j2,k=3andm -2.
cout <<(k Im<jlf3-j>:k)<<endl;
cout <<(!m ) <<endl;

cout <<(m <99 && k <m ) << endl;
jeout <<(I(j-m))<< endl;
4. linti - 1;

while (i < 10)

if (i) % 3+ 0)

cout<<i;

5 lint main()

{

t

inta, b; a= 42; b=23;
foobar(a,b);

!
s

void foobar( int b, int a ) {
if(a b)

cout << "liqual ";
cout <<a-b <<endl; }

Underline the error in each block of code below and correct it:

No TG
L while (x < 100)

total + x;

i hX;

2. jint x - 1, total;
while (x < 10) {
total 1--x;
b1x;
i
2 lint x;
double d + 1.5;
switch (d) {
case 1.0: x - 1;break:
casc 1.5:x* 2; break:
casc 2.0: x - 3; break;
4. |void printResults (int x, int y )
f
1

cout <<"The sum is " << x | y << '\n";
retumx -+ y:

1
5. |if (radius > 0)

arca = radius * radius * PI;

cout<<"Thc arca is "<<area;

3):

Correction

(10 Marks)




#

4
* Question 4:

Write C++ programs for the following : (15 Marks)
1. Write a function fmul(), and fdiv() takcs two inputs of type struct fraction and rcturn
an argument of the same type. Write the main program to caH this function.

2. Write a program that asks the uscr to type 10 integers of an array. The program must
computc and write how many intcgers are greater than or cqual to 10.

: Beot Whshes
Dr. Wokamed Mnetaja davwich
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